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HPE_CIEO2 cone sensitivityy jax(A)=1
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Mg(\)=Bo1X N +Boy () +Bozs(N)
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CIEO2 spectral tristimulus valuesyay(A)=1
X1(N)=A11l 1N +A1M 1N +A1351(N)
Az 1,9101 -1,1121 0,2019 A£570)
2 E00:3X 1(A)=21,37
(x, yn=(0,3332, 0,3332)
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CIEO02 spectral tristimulus valuesyyay(A)=1
Y1N)=Az1l 1(N)+A2aM 1 (M) +A2351(A)

Ay 03709 0,6290 -0,000 AE540)
2 E00:%¥ 1(M\)=21,37

(%, yn=(0,3332, 0,3332
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XA)=A1al A)+A1MgA)+A1354(N)
Ay 1,9101 -1,1121 0,2019 A£570)
2 E00:3X ¢(\)=99,99
(%, y)=(0,3333, 0,3333
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CIEO2 spectral tristimulus value excitation
log [XsA)/ysM)]
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